T3-14 Number Name Period

Solve and graph each inequality.

1) £>-3 2) ¥<5

2 4

"6 54321012345 6 x "65-43210122345 6 x
3) —4x < -—12 4) 4x +3 > -5

"6 5432101223456 x "6-5-43-2-10122345 6 x
5) —2(x — 4) < —10 6) tx < -8
"65-4321012345 6 x "6 543210123456 x

Write the inequality represented by each graph.
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11) Write and solve an inequality to represent the following situation.
Alex wants to earn at least $50 to put in his savings. He already has $14 and he earns $9 a week
mowing his neighbor’s lawn.

12) If Alex mows his neighbor’s lawn for 4 weeks, will he have earned at least $50? Explain how you know.

13) Will the following side lengths form a triangle? Explain how you know.
6cm, 8cm, and 12 cm

14) Will the following side lengths form a triangle? Explain how you know.
1cm, 6 cm,and 9 cm



